FREASIRAOSEHEK (BEIH)

THM3F2A18 (FM3F1A3 18EA)

HH 5 = Bt
(81 A X BEE] 30, 860 31,050 61,910
i A 106 77 183
i B5 114 101 215
A EZ A —ELH A 8 A 24 A 32
als e 14 2 38
Es jes 4 26 24 50
A m H4E - A 12 0 A 12
13 A 20 A 24 A 44
[4 AXBEERE] 30, 840 31,026 61, 866
" (81 A X BHE] 27,205
g 1R A 17
[4 AXBEERE] 27,188
(81 A X BEE] 163 238 401
E LA 5 1 6
j L 4 2 6
A Br A —E5H 1 A 0
als e 0 0 0
% i A 0 0 0
A m H4E - 0 0 0
1R 1 Al 0
[4 AXBERE] 164 237 401
" (81 A X BE#E] 249
% 124350 0
" [%AXAEE] 249
(81 A X BHE] 31,023 31,288 62, 311
i A 111 78 189
j B5 118 103 221
al, i BE A — L AT A 25 A 32
=gl 8 4 14 24 38
jr\ fia.f BT 26 24 50
B\ A HAE—ET A 12 0 A 12
)EJ 31 A 19 A 25 A 44
[4 AXBEERE] 31,004 31,263 62, 267
" (81 A X BH#E] 27, 454
g 1R A 17
[4 AXBEERE] 27,437
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FREASIRAOSEHEK (BEIH)

THM3FE3A1H (FM3F2A28HEHA)

HH 5 = Bt
(8T Ak BHE] 30, 840 31,026 61, 866
i BEA 104 95 199
i BntH 119 70 189
A B A —E5H A 15 25 10
als i 21 22 13
ZE|'§ jes e 21 21 42
A mn H4E—JET 0 1 1
1 A 15 26 1
[ Ak B&RE] 30, 825 31, 052 61,877
" (8T Ak BEH7E] 27,188
i 1R A 6
[ AkAHRE] 27,182
(8T Ak BE7E] 164 237 401
E LA 5 10 15
j L 2 5 7
fin BE A —EEH 3 5 8
als i 0 0 0
%‘ s T 1 0 1
A m HE BT Al 0 Al
1R 2 5 7
[ AkBAHRE] 166 242 408
" (8T A& B&R7E] 249
* 148351 8
H [%AXAEE] 257
(3T A& B&R7E] 31,004 31, 263 62, 267
i BEA 109 105 214
i rih 121 75 196
al . A Bz A—EnH A 12 30 18
=|lal e 4 21 22 43
jr\ fia.f A 22 21 43
ot A HAE—ET A 1 0
% 1, A 13 31 18
[ Ak B&RE] 30, 991 31,294 62, 285
" (8T A& B&R7E] 27, 437
g iR 2
[ AkB&RE] 27, 439
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FREASIRAOSEHEK (BEIH)

SHM3F4A18 (FMI3FE3 A3 1HERA)

HH 5 = Bt
(81 A X BEE] 30, 825 31,052 61,877
4t A 389 275 664
g BRH 478 297 775
A EZ A —ELH A 89 A 22 A 111
als e 16 22 38
Es jes 4 21 18 39
A m H4E - Ab 4 AT
13 A 94 A 18 A 112
[4 AXBEERE] 30, 731 31,034 61,765
" (81 A X BHE] 27,182
g 1R 48
[4 AXBEERE] 27,230
(81 A X BEE] 166 242 408
E LA 3 3 6
j #niH 5 20 25
A B A —E5H A 2 A 17 A 19
als e 0 0 0
% i A 0 0 0
A m H4E - 0 0 0
13 A2 A 17 A 19
[4 AXBERE] 164 225 389
" (81 A X BE#E] 257
% 13 A 17
H [%AXAEE] 240
(81 A X BHE] 30, 991 31, 294 62, 285
4t A 392 278 670
§ BRH 483 317 800
al . A Bx A —E5H A 91 A 39 A 130
=|gl s H 16 22 38
jr\ fia.f BT 21 18 39
B\ A HAE—ET A5 4 AT
)EJ 31 A 96 A 35 A 131
[4 AXBEERE] 30, 895 31, 259 62, 154
" (81 A X BH#E] 27,439
g 1R 31
[4 AXBEERE] 27,470

XEREEHT (BRARVSIEATER SN ST

BH . 2HEEM
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FREXEGRAOSKER (BEIHD

TMIFESA1B (FH3F4 A3 0BHA)

IHH 5 L8 =
[#7 A 5k B H7E] 30, 731 31,034 61, 765
it LA 716 346 1,062
g Erfay 226 167 393
n BR A —BnHH 490 179 669
A 2 20 27 a7
zE||: fg FET= 26 22 48
A m H4—FET A 6 5 AT
1, 484 184 668
[ A& BHE] 31, 215 31,218 62, 433
" (478 & B H7E] 27, 230
# K, 686
= [% A kB BRE] 27,916
(478 Rk BIRE] 164 225 389
it LA 1 6 7

~

j= e 4 0 4
n BE A —dniH A 3 6 3
e 2 0 1 1
% f;a.f A 0 0 0
A n HAE—FET 0 1 1
1 A 3 7 4
[ kB R%E] 161 232 393
m [ATAXRBIRT#E] 240
& 1% 1
M [% A% ] 21
(478 Rk BIRE] 30, 895 31, 259 62, 154
it LA N7 352 1,069
fg Ergay 230 167 397
n Bx A —Bn 487 185 672
=|4s i 20 28 m
¢ fé.f A 26 22 48
4 n HAE—FET A 6 6 0
)E'L e 481 191 672
[ A% BHE] 31,376 31, 450 62, 826
(478 5k B 7] 27, 470
1, 687
[ A& BHE] 28, 157
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FREXEGRAOSKER (BEIHD

TMIF6R1H (FHM3FE5HA3 1 BEA)

I5H 5 L8 =11
(3T A R BRE] 31,215 31,218 62, 433
4t BEA 93 92 185
E BRH 126 102 228
n BR A —BnHH A 33 A 10 A 43
e 2 19 18 37
zE||: fg FET= 33 16 49
A m H4—FET A 14 2 A 12
13 A 47 A8 A 55
[ ARBRE] 31,168 31,210 62, 378
" (3T A R BRE] 27,916
T YaiR A 8
= [% A% BB 27,908
(4T A & B&RE] 161 232 393
4t BEA 4 1 5

>

j= e 1 3 4
n SR A —EEH 3 A2 1
e 2 0 0 0
% fé.f A 0 0 0
A an HAE— BT 0 0 0
1R 3 A 2 1
(4 AkB&R%E] 164 230 394
m [ATAXRBIRT#E] 241
% 8350 i
H [% A% ] 22
(R A & B;RE] 31,376 31, 450 62, 826
4t BEA 97 93 190
fg BEH 127 105 232
n Bx A —Bn A 30 A 12 A 42
=|4s i 19 18 37
¢ fé.f A 33 16 49
ot m HAdE—FET A 14 2 A 12
)EIL 31 A 44 A 10 A 54
[ ARB}RE] 31,332 31, 440 62, 772
(3T A R BRE] 28, 157
1R AT
[ AkBRE] 28, 150

#HE (BRARUSNEATER SN SHT)
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FREXEGRAOSKER (BEIHD

HSMIFE7R1B8 (FH3F6 A3 0BHA)

I5H 5 L8 =11
(3T A R BRE] 31, 168 31,210 62, 378
4t BEA 118 103 221
E BEH 140 95 235
n BR A —EEH A 22 8 A 14
Sle 2 19 16 35
zE||: fg FET= 33 26 59
A m HAE—FET A 14 A 10 A 24
1 A 36 A2 A 38
[ ARBRE] 31,132 31, 208 62, 340
" (3T A R BRE] 27,908
i YaiR A9
= [% A% BB 27,899
(3T A& B&RE] 164 230 394
4t BEA 6 6 12

>

j= L 0 3 3
n R A —E5H 6 3 9
e 2 0 0 0
% f;a.f A 0 0 0
A n HAE— BT 0 0 0
31 6 3 9
[ AkB&R%E] 170 233 403
m [ATAXRBIRT#E] 242
% 8350 5
M [% A% ] 247
(R A& B&RE] 31, 332 31, 440 62, 772
4t BEA 124 109 233
fg BEH 140 98 238
n SR A —EEH A 16 11 A5
=|4s i 19 16 35
¢ fé.f A 33 26 59
4 m HAE—FET A 14 A 10 A 24
)E'L e A 30 i A 29
[ AkB}RE] 31, 302 31, 441 62, 743
" (3T ARB;RE] 28, 150
T Yai A4
M [% A% A ] 28, 146
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FREXEGRAOSKER (BEIHD

TMIFE8A1H (FHM3F7 A3 1BEA)

IHH 5 L8 =
[#7 A 5k B H7E] 31,132 31, 208 62, 340
it A 145 104 249
E Erfay 530 225 755
n A —ERH A 385 A 121 A 506
e 2 21 16 37
zE||: fg FET= 18 13 31
A n HAE—FET 3 3 6
1, A 382 A 118 A 500
[ A& BHE] 30, 750 31, 090 61, 840
" (478 & B H7E] 27, 899
# K, A 491
= [% A% BB 27,408
(47 A 5 B B 170 233 403
it A 1 0 1

~

j= e 3 4 7
n BE A —BRHH A 2 A4 A6
Sl i 0 0 0
) fé.f A 0 1 1
% an HAE— BT 0 A1 A T
1R A 2 Ab AT
[ A 5 B HE] 168 228 396
m [ATAXRBIRT#E] 247
i iR A5
H [% A% ] 22
(47 A 5 B H7E] 31, 302 31, 441 62, 743
it A 146 104 250
fg Ergay 533 229 762
n LA — R A 387 A 125 A 512
=|4s i 21 16 37
¢ fé.f A 18 14 32
h an £ — BT 3 2 5
)E'L e A 384 A 123 A 507
[ A& BB 30, 918 31,318 62, 236
(478 5 B H7E] 28, 146
1, A 496
[ A& BHE] 27, 650

#HE (BRARUSNEATER SN SHT)
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FREXEGRAOSKER (BEIHD

TMIFOR1BH (FHM3EFE8 A3 1HEA)

I5H 5 L8 =11
(3T A R BRE] 30, 750 31,090 61, 840
4t BEA 157 125 282
E BRH 165 136 301
n BR A —BnHH A8 A 11 A 19
A 2 21 2 13
zE||: fg FET= 40 20 60
A m H4—FET A 19 2 A 17
13 A 27 A9 A 36
[ ARBRE] 30, 723 31, 081 61, 804
" (3T A R BRE] 27, 408
T 1 A1
= [% A% BB 27,397
(3T A& B&RE] 168 228 396
4t BEA 2 0 2

>

j= e 5 4 9
n BE A —BRHH A3 A4 AT
e 2 0 0 0
% f;a.f A 0 0 0
A n HAE— BT 0 0 0
1R A3 A4 AT
[ AkB&R%E] 165 224 389
m [ATAXRBIRT#E] 242
i iR AT
M [% A% ] 235
(R A& B&RE] 30,918 31,318 62, 236
4t BEA 159 125 284
fg BEH 170 140 310
n Bx A —Bn A 11 A 15 A 26
=|4s i 21 2 23
¢ fé.f A 40 20 60
ot m HAdE—FET A 19 2 A 17
)E'L e A 30 A 13 A 43
[ AkB}RE] 30, 888 31, 305 62, 193
(3T ARB;RE] 27, 650
13 A 18
[ ARBRE] 27, 632

#HE (BRARUSNEATER SN SHT)

[T, BAAHFRICET,




FREXEGRAOSKER (BEIHD

FM3E10A1H (FMIE9AI0REA)

I5H 5 L8 =11
[#7 A 5k B H7E] 30, 723 31, 081 61, 804
4t LA 121 95 216
E B 133 102 235
n BR A —EEH A 12 AT A 19
ole i 18 23 T
zE||: b 4 22 23 45
A n HAE— BT A4 0 A4
K A 16 AT A 23
[ A& BHE] 30, 707 31,074 61, 781
" (478 & B H7E] 27, 397
% 135 14
= [% A% BB 27,411
(47 H Rk B 165 224 389
4t LA 2 0 2

sy

j= L 7 L 8
n SR A —EEH A5 AT A6
e 2 0 0 0
% fé.f A 0 0 0
A an HAE— BT 0 0 0
1R Ab AT A 6
[ B kB R%E] 160 223 383
m [ATAXRBIRT#E] 235
i iR A 6
H [% A% ] 229
(478 Rk BIRE] 30, 888 31, 305 62, 193
it LA 123 95 218
fg B 140 103 243
n SR A —EEH A 17 A 8 A 25
=|4s i 18 23 4
¢ fé.f A 22 23 45
s m HAE—FET A 4 0 A 4
)E'L e A 21 A 8 A 29
[ A& BHE] 30, 867 31, 297 62, 164
GEEE LA 27, 632
1R 8
[ A& BHE] 27, 640

#HE (BRARUSNEATER SN SHT)

[T, BAAHFRICET,




FREXEGRAOSKER (BEIHD

SM3FE11A1H (FM3FE10A3 1HEA)

I5H 5 L8 =11
(81 A X BHE] 30, 707 31,074 61, 781
#t BEA 128 110 238
g BEH 122 99 221
n BE A —dniH 6 11 17
Sle 2 2% 2% I
zE||: fg T 25 28 53
A m HAE—FET A1 A 4 A5
13 5 7 12
[4 AXBEERE] 30, 712 31, 081 61,793
" (81 A X BHE] 27, 411
g 18 24
[4 AXBEERE] 27,435
(81 A X BE#E] 160 223 383
#t LA 2 2 4

>

j= L 2 6 8
i BEA—EniH 0 A 4 A 4
e 2 0 0 0
%‘ f;a.f T 0 0 0
A n HAE— BT 0 0 0
18k 0 A4 A 4
[4 AXBEERE] 160 219 379
m [ATAXRBIRT#E] 229
i iR A 3
= [% A kB BRE] 226
(81 A X BEE] 30, 867 31,297 62, 164
#t LA 130 112 242
g BEH 124 105 229
n BE A —dniH 6 7 13
i~ R it 2 2 T
¢ f;a.f BT 25 28 53
s m HAE—FET A1 A4 A5
)E'L e 5 3 8
[4 AXBEERE] 30, 872 31, 300 62, 172
(81 A X BHE] 27, 640
18 21
[4 AXBEERE] 27, 661

#HE (BRARUSNEATER SN SHT)

X, BAAHFRICET,




FREXEGRAOSKER (BEIHD

SM3FE12A1H (341 1A30HEA)

I5H 5 L8 =11
(81 A X BHE] 30, 712 31, 081 61,793
#t BEA 122 92 214
E BRH 77 91 168
n BR A —E5H 45 1 46
ole i 16 21 37
zE||: b T 29 22 51
A m HAE—FET A 13 A1 A 14
B 32 0 32
[4 AXBEERE] 30, 744 31, 081 61,825
" (81 A X BHE] 27,435
g 18 24
[4 AXBEERE] 27, 459
(81 A X BE#E] 160 219 379
#t LA 2 2 4

>

j= L 1 L 2
n R A —E5H 1 1 2
e 2 1 0 1
%‘ f;a.f T 1 0 1
A n HAE— BT 0 0 0
31 1 1 2
[4 AXBEERE] 161 220 381
m [ATAXRBIRT#E] 226
% 8350 1
= [% A% BBE] 227
(81 A X BEE] 30, 872 31, 300 62, 172
#t LA 124 94 218
g BEH 78 92 170
n R A —E5H 46 2 48
i~ R it 17 21 3
¢ f;a.f BT 30 22 52
s m HAE—FET A 13 A1 A 14
)EIL K, 33 1 34
[4 AXBEERE] 30, 905 31, 301 62, 206
" (81 A X BHE] 27, 661
% 8350 25
= [% A% BB 27, 686

XEHEEMT (BEAARUVSEATERSWSHHE)

[T, BAAHFRICET,




FREXEGRAOSKER (BEIHD

FMA4E1RA1H (FF3F12A318KA)

I5H 5 L8 =11
(81 A X BHE] 30, 744 31, 081 61, 825
4t BEA 100 84 184
E BEH 130 93 223
n BR A —EEH A 30 A9 A 39
ole i 21 7 28
zE||: b T 24 34 58
A m HAE—FET A3 A 27 A 30
B A 33 A 36 A 69
[4 AXBEERE] 30, 711 31,045 61, 756
" (81 A X BHE] 27, 459
g R A 36
[4 AXBEERE] 27, 423
(81 A X BEE] 161 220 381
4t BEA 4 3 7

>

j= e 4 4 8
n BE A —dniH 0 AT AT
e 2 0 0 0
%‘ f;a.f T 0 0 0
A an HAE— BT 0 0 0
18k 0 Al Al
[4 AXBERE] 161 219 380
m [ATAXRBIRT#E] 227
i iR A 3
H [% A% ] 224
(81 A X BHE] 30, 905 31, 301 62, 206
4t LA 104 87 191
% BEH 134 97 231
n SR A —EEH A 30 A 10 A 40
=|4s it 21 7 28
¢ fé.f BT 24 34 58
s m HAE—FET A3 A 27 A 30
)E'L e A 33 A 37 A 10
[4 AXBEERE] 30, 872 31, 264 62, 136
" (81 A X BHE] 27, 686
T 1R A 39
= [% A% BB 27, 647

XEHEEMT (BEAARUVSEATERSWSHHE)
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